[

FC

e e e e
\ \ Copyright FCIL K \ \./)/ K \ \ \
4 4 g i
1 2 FClconnect.con 3 4
PRODUCT NO. MOUNTING STYLE COLOR SOLDER-TAIL STYLE BOARD LOCATOR |  STAND-OFF yMERS PAGE APPLICATION DRAWING
92856000 NO ND 2
92856-040 2 m 2 mm 4
92856-010 4mm 4 mm 16
THRU-HOLE, R/A NO

92856-020 S mm S mm 6
92856-080 2 m 14

TOP-MOUNT BLACK ND
92856-090 5 mm 15
92856-001 SMT, STAGGERED (DOUBLE-ROV) 8
92856-002 SMT, IN-LINE (SINGLE-ROW) YES NO ND 10 REFER TO TA-946
92856-003 THRU-HOLE, R/A 12 FOR BOARD LAYOUT
92856-500 NO ND 3
92856-540 2 m 2 mm 5

THRU-HOLE, R/A NO
92856-510 4mm 4 mm 17
92856-520 S mm S mm 7
BOTTOM-MOUNT NATURAL
92856-501 SMT, STAGGERED (DOUBLE-ROV) 9
92856-502 SMT, IN-LINE (SINGLE-ROW) YES NO ND u
92856-503 THRU-HOLE, R/A 13
1 PIN 34 PIN TOP-MIUNT A
A 35 PIN TOP-MOUNT 68 PIN INDICATOR THRU-HOLE, RIGHT-ANGLE SMT, STAGGERED SMT, IN-LINE
oT
or % or oT
O W @ ©
BOTTOM-MOUNT 1419
INDICATOR
BOTTOM-MOUNT \q
FIGA MOUNTING STYLE
FIGB SOLDER-TAIL STYLE
[ O Fic BOARD LICATR
— BOARD LOCATOR
mat’l. code surface /[tolerance|pro jectiofproduct family
,_;ﬁ 1SO1302 ISOt01 1S0406 PCMCIA
%RT ltrecn nddr[date [tolerances unless otherwls@ﬁgl}le Htitle
MOUNTING SUPPCRT E vﬁ’;ﬁauw?‘;zzsﬁi angle 103 MM _ |68P EJECTOR HEADER ASSEMBLY
- < : .

SINDTF F Toovonss 2 Josor/ 1 oz | ~oooRTS | FOR PCMCIA/JEIA TYPE-I/I/II HEADER ASSEMBLY
dr | L 71soH [12/05/96 a dwg ho sheet 10f17|sizp
engr LT soH [12/05/96 Fc
chr| L T soH [12/05/96 \_J/ 92856 A4
opAdd L T soH  |12/05/96 type  Product Customer Drawing B

B sheet|revisignF | F | F | F | F|F|F|[F|F[F|[F|[F[F|F[F|F]|F
iIndex |sheet| 1| 2| 3| 4| 5|6| 7|89 [10[11]12[13]14][15]16]17

I form: A4mmXLc

1

PDS: Rev :F 3

STATUS:Released

Printed: Sep 1242013 I



[

7N

\_

Copyright FCIL

7N

\_

9

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
SMT IN-LINE
92856-002 TOP-MOUNT BLACK SINGLE-ROV ND ND YES
CO-PLANARITY
——— 0635 TYP R R
5985 0,30 (68% =
’ i cJoz20 1T -
= 52,07 I \
r 42,545 y :
s 5804
v -02
i o M2 THREADED-INSERT(2x)
. = X
5,80 CTI_I - — 1T - - 'IJD/_
T 63 - @Z( ‘ BOARD LOCATOR
of— — — et — — — -~ 5| 7ereF
I M
36,0REF l —_— — —I— — — l L
DL a VJ SECTION V-V (SCALE 3 : 1)
— 127 A
A 4191 !
]
NOTES
1PIN A B ]#0,20] 34 PIN
55 PN [ J6 o6 PN 1 SEE TA-946 FIR PCB LAYOUT.
2. MATERIAL
[\ | - PLASTIC 1 HIGH TEMPERATURE THERMOPLASTIC UL94V-0
M T C PIN + PHOSPHOR BRONZE
(A i 3. FINISH (PIN) :
UNDER-PLATING : 05 un MIN. Ni
2.70 127 CONTACT AREA : 0.076 ym MIN. GOLD
’ SOLDER AREA : 25um MIN. Sn-Pb
+0,2 -
| 542002 I 4, PRODUCT SPECA10-263
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 10406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 3
s —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet2of17|sizp
engr LT soH [12/05/96 Fc
PIN NO %,67 | L3 OTHERS chr LT SOH 112/05/96 :'J 92856 A
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 350t010 | S00%010 | 425%01 ;P;Ieee)(t ;;;z’fn
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



[

FC

~ ~ ~ ~
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
ST IN-LINE
92656-502 BOTTOM-MOUNT NATURAL SINGLE-RDW) NO NO YES
CO-PLANARITY
——— 0635 TYP PEETTT
505 0,30 (68
’ i clo20 T
= 52,07 \
- 42,545 | ~
s 58010,
v J
| o M2 THREADED-INSERT(2x)
. = X
5,80 C|_| I 'JBD/_
T 63 - g?)( ‘ BOARD LOCATOR
o — e = = T 7R
1] 1] !
36,0REF — ‘l‘ T
DL | ] SECTION W-W (SCALE 3 : 1)
v
-~ 1,27
A 4,9 !
NOTES
68 PIN j_AaTBTs020] 35 PIN
1. SEE TA-946 FOR PCB LAYOUT.
€8x AT TIP
34 PIN * | 1PN 2. MATERIAL
R\ _— ] PLASTIC  HIGH TEMPERATURE THERMOPLASTIC UL94V-0
M N — - —paae—  — & PIN : PHOSPHOR BRONZE
b CE i =[] 3, FINISH (PIN)
UNDER-PLATING 1 05 un MIN. Ni
270 127 CONTACT AREA 1 0.076 un MIN. GOLD
’ SOLDER AREA 1 25un MIN. Sn-Pb
02 4, PRODUCT SPECH10-263
5420 195 &=
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISOH101 150406 % PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 2
s ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheet3o0fl17|sizp
engr LT soH [12/05/96 Fc
PIN NI %,67 |03 OTHERS chr LT SOH 112/05/96 :'J 92856 A4
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing
DIM-L 350010 | 500w | 425%00 sheet |revisign
Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released

B

Printed: Sep 1242013 I



|

[ -~ F¢ N N

\/ \/

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-003 TOP-MIUNT BLACK THRU-HILE, R/A ND ND YES
0,30
BOARD LOCATOR 6%);”1,,
NOTE
59,85 ®
52,07 ‘
c———— o
= 1,905 (3x)
580%0, -1 = tf
v y
| — a M2 THREADED-INSERT(x) "—I— 280 70
w [JN T T T T T 5 [
L + 1
of—— — — —epr — — — ~{5| 72REF
] I
36,0REF '——‘l‘_—lL
DAL u ] SECTION V-V (SCALE 31 1)
v
—] 127
491 !
L A
A
]
NOTES 1
1 PIN ATB[#0,20] 34 PIN
35 PIN Jssx AT TIP ¢8 PIN POINTED PIN TIP 1, SEE TA-946 FOR PCB LAYIUT.
I ) 2. MATERIAL
R\ - e 90 PLASTIC : HIGH TEMPERATURE THERMOPLASTIC UL94V-0
_ﬂZH‘J_ e —— - et PIN + PHOSPHOR BRONZE
(-] ; | 3, FINISH (PIN)
=3 | L= |
m_ — = _— 1M UNDER-PLATING : 05 un MIN. Ni
2.70 \ 127 CONTACT AREA : 0076 ym MIN. GOLD
’ —] 1,27 \ R O1HAX 0,40 £0,07 SOLDER AREA 1 25un MIN. Sn-Pb
. (&) TRUE POSITION IS A FREE GRID TO THE PIN
41,9; ) ! DETAIL-X T E (] PATTERN ITSELF,
+0, -
54,20 0% — S. PRODUCT SPEC:10-263
DETAIL-X (SCALE 15 1 )
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
C| .
Tz = —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet4ofl7|sizp
engr LT soH [12/05/96 F‘ ' 92856 A
PIN NO %,67 | L3 OTHERS chn LT SOH 112/05/96 "/.J 4
B ' ' 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing B
DIM-L 350t010 | S00%010 | 425%01 sheet |revisign

Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



[

FC

~ ~ ~ L~
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856503 BOTTOM-MIOUNT NATURAL THRU-HILE, R/A ND ND YES
0,30
BOARD LOCATOR sjs);lﬂlp
NOTE
59,85 ®
52,07 ‘
c——— o
- 1,905 30
sa01, - = tf
v y
| — M2 THREADED-INSERT(2) "—I— 280 0
g - T —I' - |JB O 6 =
5,80
: QL [ | 1 @l :
L 1
of—— — — —ebr — — — 5| 7eRF
[ T
36,0REF ' — ‘I‘ — l L
DAL | ] | SECTION V-V (SCALE 31 1)
v
127
49 !
- A
A
NOTES :
68 PIN 1B [#020] 35 PIN
g POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT.
34 PIN 68x AT TIP 1 PIN
I ) 2. MATERIAL
el = 90 PLASTIC : HIGH TEMPERATURE THERMOPLASTIC UL94V-0
s
_q'_.H_':._%:_ e T PIN : PHOSPHOR BRONZE
(-] ! =[] 3, FINISH (PIN)
=3 I L= |
m_ — = _— 1M UNDER-PLATING 1 05 un MIN. Ni
270 \ 127 CONTACT AREA 1 0076 um MIN. GOLD
’ —--I—— 1,27 \ R O1HAX 0,40 £0,07 SOLDER AREA 1 25un MIN. Sn-Pb
. (&) TRUE POSITION IS A FREE GRID TO THE PIN
41,9; ) | DETAIL-X T E (=] PATTERN ITSELF.
+0, »
542002, — S. PRODUCT SPEC110-263
DETAIL-X (SCALE 15 1 )
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 3
Tz = —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheet5ofl17|size
engr LT soH [12/05/96 Fc
PIN NO %,67 | L0 3* OTHERS chr LT SOH 112/05/96 :'J 92856 A
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 350010 | 500w | 425%00 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I




A
| _ _ FC _ p |
\ \ Copyright FCIL K \ \./)/ K \ \ \
4 g i
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-080 TOP-MIUNT BLACK THRU-HILE, R/A 2 mn ND ND
68x AT TIP
NOTE @
59,85
52,07
+0
y 58013,
1 M2 THREADED-INSERT(2) = a0
! . R /_ | - 7oReF
580 CTL T |J 3( ]
1 : (& e
L 1
o T o] 7e%eF —
36,0REF "— ——I—— —'lL
- u 1 | SECTION A-A (SCALE 3t D
v
— 127
09 !
A
A
]
NOTES
1PN AT Bo020] 34 PIN
35 PIN Jeex TIP €8 PIN POINTED PIN TIP 1, SEE TA-946 FOR PCB LAYOUT,
) 2. MATERIAL
— % PLASTIC 1 HIGH TEMPERATURE THERMOPLASTIC UL94V-0
L PIN 1 PHOSPHIR BRONZE
(] 3, FINISH IV «
UNDER-PLATING ¢ 05 um MIN. N
270 Le7 CONTACT AREA + 0076 um MIN. GOLD
’ R 0.1 HAX 0,40 20,07 ® SOLDER AREA : 25un MIN. Sn-Pb
4,0REF d (@) TRUE POSITION IS A FREE GRID TO THE PIN
DETAIL=X ¥ [=] PATTERN ITSELF.
S, PRODUCT SPECH10-263
T
DETAIL-X (SCALE 15 : 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F angld$ — MM _ |68P EJECTOR HEADER ASSEMBLY
| 3
Tz = ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet6ofl7|sizp
engr LT soH [12/05/96 Fc
PIN NO %,67 | L3 OTHERS chr LT SOH 112/05/96 ‘.‘J 92856 A
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 3504 000 | S500%010 | 425% 010 sheet |revisign
Index |sheet
1 PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I

I form: A4mmXLc



|

[ -~ F¢ N N

\/ \/

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92656-020 TOP-MIUNT BLACK THRU-HILE, R/A 5 mn NO NO
68x AT TIP
NOTE @)
595 1,905 (3x)
52,07 {
- 5801, —
VAFER-GUIDE —_ W ’
| —| | /— M2 THREADED-INSERT(@x) ‘“]_I‘_ &80 0.70
a0 C‘T —_—  — b_'_ C —_— — J b = *
: 6\\I I . 1 6?( * E—  70REF
i N I N ’
o — — — — — o rerer B—
| i J !
36,0REF —_— o
DL a " SECTION A-A (SCALE 3 1 D)
- 127
9 |
A A
]
NOTES
1PIN J BICT90.20] 34 PIN
35 PIN 68x AT TIP €8 PIN POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT,
‘ 2. MATERIAL ©
90 PLASTIC + HIGH TEMPERATURE THERMOPLASTIC UL94V-0
L PIN 1 PHOSPHOR BRONZE
- 3, FINISH (PIN)
UNDER-PLATING 1 05 un MIN. Ni
2.70 127 CONTACT AREA + 0076 um MIN. GOLD
’ R O1MAX 0,40 £0,07 ® SOLDER AREA : 25un MIN. Sn-Pb
d (&) TRUE POSITION IS A FREE GRID TO THE PIN
AOREF & = PATTERN ITSELF.
DETAIL-X 5. PRODUCT SPECA10-263
= DETAIL-X (SCALE 15 : D)
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISOH101 150406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 2
s —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet7of17|sizp
engr LT soH [12/05/96 F‘ ' 92856 A
PIN NI %,67 |03 OTHERS chr LT SOH 112/05/96 :'4 ‘
B ' ' 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing B
DIM-L 350010 | 500w | 425%00 sheet |revisign

Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



[

~
®

Copyright FCIL

~
®

9

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-010 TOP-MOUNT BLACK THRU-HILE, R/A 4mn 4 ND
68x AT TIP
1,905 3w
59,85
52,07
0
. 58013,
1 M2 THREADED-INSERT(2x) “'—I— 2,30 0,70
i - — _—I'_ L /_ || 7R
d b E:
5,80
¥ | . e =2
[ n ]
of— — — T — — — —{5| 7eRF — '
" ll 9T 14,20
o — = —— l SECTION A-A (SCALE 3 1 D)
DIM-L - _ ] - SECTION A-A (SCALE 3 1 1)
v L g2,0ReF
— 1,27
f— 400
41,9 !
— A
A
NOTES +
1PIN A[B9020] 34 PIN
ASEL POINTED PIN TIP 1, SEE TA-946 FOR PCB LAYOUT.
35 PIN 68x AT TIP 68 PIN
| o 2, MATERIAL :
e — ilﬁfgfﬁi&ggﬁi Li»g:‘EZREATURE THERMIPLASTIC UL94V-0
(=] — : — ] 3, FINISH (PIN)
| J UNDER-PLATING ¢ 05 um MIN. NI
2.70 127 CONTACT AREA : 0076 wm MIN. GOLD
! - LJV R 0 MAX 0,40 0,07 SOLDER AREA @ 25um MIN. Sn-Ph
d (@) TRUE POSITION IS A FREE GRID TO THE PIN
DETAIL-X I 127 HOREF v Efoa ] = ® PATTERN ITSELF.
419 5. PRODUCT SPECH10-263
+0
! 54,20
045 -B- DETAIL-X (SCALE 15 1 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F angld$ — MM _ |68P EJECTOR HEADER ASSEMBLY
C| .

s ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet8ofl17|sizp
engr LT soH [12/05/96 Fc

PIN NO %,67 | LT3 OTHERS chn LT SOH |12/05/96 "’.J 92856 A4
B ' ' 35,51, 68 opAdd L T soH |12/05/96 type  Product Customer Drawing B
DML 350£ 000 | S500%010 | 425% 000 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



9

A\
_
A\
_
|

[

7N

7N
Copyright FCIL
\_

\_

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856510 BOTTOM-MIOUNT NATURAL THRU-HILE, R/A 4mn 4mn ND
68x AT TIP
1,905 %)
59.85
52,07
+0
y 58013,
1 M2 THREADED-INSERT(2) - 230 0.70
_ o /_ - 70REF
i o]
el | |pe— =
L 1 —
of— — — —tfr — — — 75| 7R — |
< ll ll T 14,20
36,0REF —_‘I___ — | I
- |u 1 ] SECTION A-A (SCALE 3 : D
v L g2,0ReF
— 127
— 4,00
091 !
. A
A
]
NOTES
68 PIN A]B[#020] 35 PIN
A POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT,
34 PIN 68x AT TIP 1 PIN
| ) 2. MATERIAL
— L 90 PLASTIC : HIGH TEMPERATURE THERMOPLASTIC ULS4V-0
N e — - e r PIN + PHOSPHOR BRONZE
(AT ' 3, FINISH (PIN) «
| UNDER-PLATING 1 05 um MIN. N
270 R LE7 CONTACT AREA : 0076 um MIN. GOLD
’ R 0.1 HAX 0,40 20,07 ® SOLDER AREA : 25un MIN. Sn-Pb
d =] (@) TRUE POSITION IS A FREE GRID TO THE PIN
DETAIL-X I i SOREF s E[ 020 ] PATTERN ITSELF.
09 5. PRODUCT SPECA10-263
! 54,20 102 !
005 -B- DETAIL-X (SCALE 15+ 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 1S0406 % PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F angld$ — MM |68P EJECTOR HEADER ASSEMBLY
C| .
Tz = ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheet9ofl17|sizp
engr LT soH [12/05/96 F‘ ' 92856 A
PIN NO %,67 | L3 OTHERS chn LT SOH 112/05/96 "/.J 4
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 3504 000 | S500%010 | 425% 010 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



A
| _ _ FC _ p |
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92656-000 TOP-MIUNT BLACK THRU-HILE, R/A ND NO NO
17030
66x AT@SIP
NOTE
59,85
52,07 ] ._:[
= 1,905 3
5801, mip == tf
v ;
1 M2 THREADED-INSERT(@x) "—I‘_ 2,80 =i 7
/_ I q | 0,70
sa0 cTL__'—I"__ ng( SHHE: = |
el . || : au
L 1
ofb— — — o — — = W 7R ||
l | !
36,0REF — ——l—— —
DL a 1 | SECTION W-W (SCALE 3 1 1)
v
- 127
4.9
A
A
NOTES
1 PIN J_A[B[#020] 34 PIN
35 PIN 68x AT TIP €8 PIN POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT,
| ‘ 2. MATERIAL
[ | . e 90 PLASTIC 1 HIGH TEMPERATURE THERMOPLASTIC UL94V-0
M et — o PIN + PHOSPHOR BRONZE
(AT i 3, FINISH ®IN) «
m_ _—. = _— M UNDER-PLATING : 05 um MIN, Ni
2.70 1e7 CONTACT AREA + 0076 um MIN. GOLD
’ — 127 ROIMAX 0,40 £0,07 SOLDER AREA : 25un MIN. Sn-Pb
d =] (&) TRUE POSITION IS A FREE GRID TO THE PIN
491 | DETAILX z PATTERN ITSELF.
. 54,20 9% — S. PRODUCT SPECH10-263
DETAIL-X (SCALE 15 :
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISOH101 150406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 2
s = —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheetllofl7|size
engr LT soH [12/05/96 Fc
PIN NI %,67 |03 OTHERS Chrj LT SOH 112/05/96 :'J 92856 A4
B ' ' 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 350t 000 | S500%010 | 42500 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I




[

FC

~ ~ ~ L~
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-500 BOTTOM-MIOUNT NATURAL THRU-HILE, R/A NO NO ND
1030
68x ATéIP
NOTE
59,85
52,07 }
e
- 1,905 (30
58010, - = #
v ¥
1 M2 THREADED-INSERT(x) "—"_ &80
e 0,70
) ] N
7N . i =5
f AN 2] m— " ——— 1
of ==, oIl 7.2rer
| T
36,0REF l———l———lL
- | 1 | SECTION W-V (SCALE 3 : D
W
— 127
49 !
A
NOTES
68 PIN Al Bo020] 35 PIN
AL POINTED PIN TIP 1. SEE TA-946 FIR PCB LAYOUT,
34 PIN 68x AT TIP 1 PIN
| | 2. MATERIAL
[ — , 90 PLASTIC 1 HIGH TEMPERATURE THERMOPLASTIC UL94V-0
i — PIN 1 PHOSPHIR BRONZE
(o] i =] 3. FINISH (PIV)
m_ _— = _— 1 UNDER-PLATING ¢ 05 um MIN, Ni
270 \ 1e7 CONTACT AREA + 0076 ym MIN. GOLD
’ —] 127 \ ROINAX 0,40 £0,07 ® SOLDER AREA : 25um MIN. Sn-Pb
4 @) TRUE POSITION IS A FREE GRID TO THE PIN
a9 | DETAIL—X s (=] PATTERN ITSELF.
+0,2 —:
. 54,20 0% = S, PRODUCT SPECA10-263
DETAIL-X (SCALE 15 1 D)
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 3
s —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L 71soH [12/05/96 a dwg ho sheetllof17|sizp
engr LT soH [12/05/96 Fc
PIN NO %,67 | L3 OTHERS chr LT SOH 112/05/96 :'J 92856 A4
B ' ' 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing
DIM-L 350t 000 | S500%010 | 42500 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I

B



|

[ -~ F¢ N N

\/ \/

1] 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-040 TOP-HIUNT BLACK THRU-HILE, R/A 2 mn 2 m ND

68x AT TIP
NOTE @

59,85
52,07
5,80 *0
v -2
1 M2 THREADED-INSERT(2x) | 20
! e /- | | - 70meF
580 T|_| I |J ]
N . '’ i ==
2B 1 { i
7,2REF —t

—19] 7.

B |

- @2,0REF

SECTION A-A (SCALE 3: D)

5
P/
o
- L
- 127
4,9 | '
. A

36,0REF ”———l———llL

DIM-L = _

2,00

A
]
NOTES
1PN A]B[9020] 34 PIN
35 PIN in TIP 68 PIN POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT.
| | 2. MATERIAL
e I ) 90 PLASTIC + HIGH TEMPERATURE THERMOPLASTIC UL94V-0
T C PIN ¢ PHOSPHOR BRONZE
(2] 3. FINISH (PIN)
lll | l" UNDER-PLATING : 05 um MIN. Ni
270 —_— Le7 CONTACT AREA : 0076 um MIN. GOLD
’ ‘ RO MAX 0,40 20,07 SOLDER AREA t 2.5um MIN. Sn-Ph
— 1,27 4,0REF d =] (@) TRUE POSITION IS A FREE GRID TO THE PIN
T E
DETAIL-X 4.9 | PATTERN ITSELF,
02 5. PRODUCT SPECH10-263
} 5420 0 | e
DETAIL-X (SCALE 15 : 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 1S0406 % PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F onglds 03 MM 68P EJECTOR HEADER ASSEMBLY
C| 2
iz = =calenTs, | FOR PCMCIA/JEIDA TYPE-I/I/IN HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheetllofl7|sizp
engr LT soH [12/05/96 F‘ ' 92856 A
oIV N % & |13 TTHERS chr] L7 son [12/05/96 \_j, 4
B ' ! 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing B
DIM-L 3504 000 | S500%010 | 425% 010 sheet|revisign

Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



[

FC

~ ~ ~ L~
\ \ Copyright FCIL K \ \./)/ K \ \ \
4 4 g i
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-540 BOTTOM-MIOUNT NATURAL THRU-HILE, R/A 2 mn 2 m ND
€8x AT TIP
NOTE @
59,85
52,07
0
y 58013,
| 1 M2 THREADED-INSERT(x) | &30
- /- || - 7oReF
o | 1% ﬂ
7N . d i =
f NZE: " 1IN/
of— ot — — — 75| 7eRF _—
s ' ' a 1 14,20
36,0REF l — —‘I‘_ — ' L |
DL |u ] — SECTION A-A (SCALE 31 D)
W L ¢2,0REF
—] 127
- 2,00
s !
A
NOTES :
68 PIN A]B[#0,20] 35 PIN
AEL POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYOUT,
34 PN 68x AT TIP L PN
I ) 2. MATERIAL
= — LL— 90 PLASTIC : HIGH TEMPERATURE THERMOPLASTIC UL94V-0
R e Y R 1 — PIN : PHOSPHIR BRONZE
(AT 0 = J"‘l 3. FINISH (PIN) ©
| Ill UNDER-PLATING : 05 um MIN. Ni
270 —_— 127 CONTACT AREA : 0076 um MIN. GOLD
’ / ‘ R 0.1 HAX 0,40 £0,07 ® SOLDER AREA 1 25un MIN. Sn-Pb
— 127 5,0REF d @) TRUE POSITION IS A FREE GRID TO THE PIN
DETAIL=X / st , ¥ (=] PATTERN ITSELF,
0,2 5. PRODUCT SPECH10-263
54,20 0% =
DETAIL-X (SCALE 15 1 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F angld$ — MM _ |68P EJECTOR HEADER ASSEMBLY
| 3
A ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheetliof17|sizp
engr LT soH [12/05/96 Fc
oIV N % o |13 TTHERS chr] L7 son [12/05/96 \_J, 92856 A4
B ' ! 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing
DIM-L 3504 000 | S500%010 | 425% 010 sheet |revisign
Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I

B



| _ _ FC _ p
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-020 TOP-MIUNT BLACK THRU-HILE, R/A 5 mn 5 mn ND
68x AT TIP
1,905
59,85 @0
52,07
58019, - Tk
WAFER-GUIDE v !
‘\ ‘| | M2 THREADED-INSERT(2X) —]_I— 280 0.70
O™ —  — |E|—|' — b H B |
5,80
(c\\t& ) i J((?( i L= 7,0ReF
' e e————= — _[
) " o f
i— : ' ' = 14,20
36,0REF l—— ‘l‘——l | I
— T SECTION A-A (SCALE 3 : 1)
DIN-L = v L SECTION A-A (SCALE 3 : D
L 2,0ReF
— 127
=— 5,00
091 !
. A
A
NOTES
1PN B[ C[#020] 34 PIN
35 PIN Jeex TIP €8 PIN POINTED PIN TIP 1. SEE TA-946 FOR PCB LAYUT.
) 2. MATERIAL
— 90 PLASTIC : HIGH TEMPERATURE THERMOPLASTIC ULS4V-0
T F PIN : PHOSPHOR BRONZE
(<] 3. FINISH (PIN) 1
UNDER-PLATING 1 05 um MIN. N
270 127 CONTACT AREA 1 0076 um MIN, GOLD
’ R 0.1 HAX 0,40 0,07 ® SOLDER AREA : 25un MIN. Sn-Pb
d TRUE POSITION IS A FREE GRID TO THE PIN
LOREF s [=] PATTERN ITSELF,
DETAIL=X 5. PRODUCT SPECH10-263
— DETAIL-X (SCALE 15 : 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F ongld§ — MM |68P EJECTOR HEADER ASSEMBLY
| 3
s —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T SOH |12/05/96 a dwg nho sheetl4of17|sizp
engr LT soH [12/05/96 Fc
PIN NO %,67 | L3 OTHERS chr LT SOH 112/05/96 :'J 92856 A
B ' ' 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing B
DIM-L 350t010 | S00%010 | 425%01 sheet |revisign
Index |sheet
I form: AdmmXLc 1 ot I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



A
| _ _ FC _ p
\ \ Copyright FCIL K \ \./)/ K \ \ \
_/ _/ _/ b
1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
92856-520 BOTTOM-MIOUNT NATURAL THRU-HILE, R/A 5 mn 5 mn ND
68x AT TIP
- 1,905 (3x)
52,07 [
58075, —
WHFER-GUIDE —_ v
| _| | /— M2 THREADED-INSERT(2) =~ 280 0.70
T EN IEl_r S )l o f i -
7N ' i e, i L= 7,0ReF
A4 N4 s
1 N2 I NZ) —
of— — — kb — — — ~{5| 72RF
) ' . l ] 14,20
36,0REF ———l———l | I
]
DML L v —r— SECTION A-A (SCALE 3t D)
l N L ¢2,0REF
— 1,27
— 500
09 !
A
NOTES
68 PIN J B[C[#020] 35 PIN
34 PIN 66 AT TIP LPIN POINTED PIN TIP 1, SEE TA-946 FOR PCB LAYOUT,
| ) 2. MATERIAL 1
— 90 PLASTIC 1 HIGH TEMPERATURE THERMOPLASTIC UL94V-0
N — - —pe— - — PIN « PHOSPHOR BRONZE
€ | i 3. FINISH (PIN) ©
- UNDER-PLATING + 05 um MIN. N
270 I LE7 CONTACT AREA : 0076 um MIN. GOLD
2 _ . _mMm R0 HAX 040 20,07 SOLDER AREA ¢ 25um MIN. Sn-Pb
d (& TRUE POSITION IS A FREE GRID TO THE PIN
‘ LOREF ¥ PATTERN ITSELF,
DETAIL-X st | S. PRODUCT SPECH10-263
02 R
542010 = DETAIL-X (SCALE 15 : 1)
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
£ anglds — MM _ [68P EJECTOR HEADER ASSEMBLY
C .
s —=oTonTs | FOR PCMCIA/JEDA TYPE-I/I/I HEADER ASSEMBLY
dr | L T1soH [12/05/96 a dwg ho sheetldof17|sizp
engr LT soH [12/05/96 Fc
oIV N % o |13 TTHERS chr] L7 son [12/05/96 \_J, 92856 A4
B ' ! 35,51, 68 oppdd L T soH |12/05/96 type  Product Customer Drawing
DIM-L 35000 | S500£010 | 425%00 sheet|revisign
Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released

B

Printed: Sep 1242013 I



A\
_

A\
_
|

I_ 7N Copyright FCL . Fg)

\/ \/

1] 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
SMT, STAGGERED
92856-001 TOP-MOUNT BLACK OUUBLE-RDW ND ND YES
CI-PLANARITY
59,85 04015 ——t—
= 52,07
1 C 68x
56101
42,545 4 44SREF
0,635 —r-— 58052
v
i 1 M2 THREADED-INSERT(2x)
T -+ A .
580
N |'I IJﬁ | 1 _\
21 AN BOARD LOCATIR

7,2REF

T

SECTION W-W (SCALE 3 : D)

A
P
©
= _ L
' A
A 49 | \

36,0REF "———l———llL

DIM-L

— 1,27

NOTES
1 PIN A]B]90,20] 34 PIN
25 PIN i €8 PIN 1, SEE TA-946 FOR PCB LAYOUT.
| 2. MATERIAL
[——— o ) PLASTIC : HIGH TEMPERATURE THERMOPLASTIC UL94V-0
. — . N L — s TT1h N
Mt r PIN + PHOSPHOR BRONZE
I 3. FINISH (PIN)
' UNDER-PLATING 0.5 um MIN. NI
270 187 CONTACT AREA @ 0.076 um MIN. GOLD
’ SOLDER AREA : 25um MIN. Sn-Pb
+0,2 4, PRODUCT SPECH10-263
54,20 8 } —
mat’l. code surface /[tolerance|pro jectiofproduct family
1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
F onglds 03 MM 68P EJECTOR HEADER ASSEMBLY
| 2
oiz |- =calenTs, | FOR PCMCIA/JEIDA TYPE-I/I/IN HEADER ASSEMBLY
dr | LT1soH [12/05/96 a dwg ho sheetlbofl7|sizp
engr LT soH [12/05/96 Fc
oIV N % o |13 TTHERS chr] L7 son [12/05/96 \_J, 92856 A4
B ' ! 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing B
DIM-L 35000 | S500£010 | 425%00 sheet|revisign

Index |sheet
I form AdmmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



[

~
®

Copyright FCIL

~
®

9

1 2 FClconnect.co 3 4
PRODUCT NI. MOUNTING STYLE CILIR SOLDER-TALL STVLE | STAND-OFF HONTING BOARD LOCATIR
ST, STAGGERED
92856501 BOTTOM-MIOUNT NATURAL OOUBLE-RDW ND ND YES
CO-PLANARITY
59,85 0205 ——t—
= 52,07 £
I cJo0,35]68x N
5,640
| 42,545 4,445REF 1
0,635 —r— 580%0, L
W
i 1 M2 THREADED-INSERTC2x) 3,301
d i '_'—I"_'_” B:>/_ ]
5,80 I_I |J
& . oA I N
T NZ2E: - AN BOARD LOCATOR
of—— T —— — —{5| 7R
[ _ T
— — + —
DL L ] SECTION V-V (SCALE 3 1 D)
I w L Rl i L AR
—] 127
79 ! A
A
- ]
NOTES
68 PIN ] B]90,20] 35 PIN
34 PIN i LPIN 1. SEE TA-946 FOR PCB LAYOUT,
I 2. MATERIAL
[ — - LL— PLASTIC : HIGH TEMPERATURE THERMOPLASTIC UL94V-0
—ﬁ;l;l—':o—%ﬁ:—:—::—:—:—::—:—_ué— THH——F PIN : PHOSPHIR BRONZE
(AT = i =1 3, FINISH (PIN)
UNDER-PLATING : 05 um MIN. Ni
270 127 CONTACT AREA : 0076 um MIN. GOLD
’ SOLDER AREA 1 25un MIN. Sn-Pb
02 4, PRODUCT SPEC110-263
54,20 0% =
mat’l. code surface /[tolerance|pro jectiofproduct family
I1SO1302 ISO1101 1S0406 @% PCMCIA
ltrlech ngdr |date |tolerances unless otherpisetépecifiegititle
£ anglds — MM _ [68P EJECTOR HEADER ASSEMBLY
C .
s ——oTonTs | FOR PCHCI/JEIDA TYPE-1/I/Il HEADER ASSEMBLY
dr | L 71soH [12/05/96 a dwg ho sheetl7of17|sizp
engr LT soH [12/05/96 Fc
oIV N N FUST RN . ch L7 son  [12/05/96 :_J 92856 A4
B ' ! 35,51, 68 opAdd L T soH  |12/05/96 type  Product Customer Drawing B
DIM-L 350t010 | S00%010 | 425%01 sheet|revisign
Index |sheet
I form: Ad4mmXLc 1 2 I PDS: Rev :F 3 STATUS:Released Printed: Sep 1242013 I



